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Choose

1- its mean language Whidkai er for human to understand as closer to
human commu

b- machine language

2- Langugg oMmputer it is machine language depend on binary system
= N vel language b- machine language

[ ost used programming language in the word java 0.74 declined

dc/c++
a- python b- java c- high level language

4- its group of function that someone has written allowing user to------------
perform different operation rebated to particular area image — processing
or statistical data type analysis



5-

a_

6-

10- its mean libr

a- library b- Language of computer

------------ include many function like standard deviation median —lowest
common multiple

library b- Language of computer
)
Reason for making a library instead of sharing its source code is th

library

file is un editable b- sharing source
. . . . ‘

Library include many function like ,

a- standard deviation median .

b- lowest common multiple

c- all

Python is open source software its .

a- itis continuously being mw a u‘pgraded by the community

b- its owner the compay
% with version2 ()

(fiction developer using older version may not

If python version 3

be usable in th rsion

a- If pyghoR\v 3 not compatible with version 2
b- on ion 3 compatible with version 2

Delete python

11- rpreter on computer and Base on web based interface
ad python
% great python
c
=Ad

vantage of --------------- is gives you acess and control over python installation Path and its
libraries which is required by advanced users
a- Python interpreter on computer
b- Base on web based interface



13- Hassle free but does not allow manipulation or control over python libraries and Path and
environment as beginner

a- Pythoninterpreter on computer

b- Base on web based interface

14-installing through web browser based interface 3
1- Codingground:-

2- Online GDB
3- repl.it b)
4- all

15-Advantage of ---------- that it allows access to p th raries (package
)for use in program

1- Codingground:-
2- Online GDB
3- repl.it

4- all

G Advantage its proved debugging option that are not provides by
codingground

18- Codingground:-

19- Online GDB

20- repl.it

21- all



18- data type consist

1-
2
3-
4-
5-

a-
b-
c-
d-

. Q)

string
integers
float
noolen

L)
all

19-it use for text and must but between “” its define text like” hell@.”.
string b“;

integer
float
boolen

when print it which is not correct ¢ ies
Specialtoday= ‘chef”sfries’

Specialtoday= ‘chef’sfries’
Specialtoday= “chef’sfries” \
Its not friction ----§--- - like day data or year We write in python
my first value

string Q

integer

floa v

bo

- ve friction partit can save as data type

L Y
)

sfring
integer
float
boolen



21- name can be 1- uppercase 2-lower case letter 3- _
My be contane upper and Lower case

a- Varuable

b- Value

c- Float .
22-Varuable can be begin in number
23-Varuable use distance between two word

B

24-Varuable use _ between two word
25-We can’t use word return as variable because itis key word ( )

an

26-Testquote= “"action speak louder than word” t t put is
a- Out put "action speak louder than word”.
b- Out put action speak louder than word

c- Out put ‘action speak louder t wo

27-welcome =a+’+"’+bifa=“hi“ b ¥ Print (welcome) the out put is
a- hi +ali

b- hiali \

c- hi ali (b

28-:- variabl@ n eQ be
1-up as - lower case letter 3- _My be contane upper and
L% ike my wight =745.32

2 e time we want to keep multiple entries of the same or different
e together Same data type entries being saved together its :-

Q st 2- string 3- integer 4 —boolen

30-The collection of value in a list are ordered Each value are enclosed
inside brackets[]
1- List 2- string 3- integer 4 —boolen



31-Big burger sales =[20,25,30,15,21,40,41]

32-Print(Big _burger_ sales)=
a- 20,25,30,15,21,40,41
b- [20,25,30,15,21,40,41]
c [3] .
33-Print(Big _burger_ sales[2])
a- 30
b- 25 b)}
c- “30”
34-Print(Big _burger_ sales[2:5])
a- [30,15,21]
b- 25,30,15,

c- 15,21,40
35-mean the position in the list if yo to point the value 30 we

shallprovied its ------------ 2 2

a- Index

b- Position \
c- Place

36-If there 7 va%(bex is

a- fromoO
b
c_

from ONto 6

vantage of list is can be used to save the data of more than one
stomer this can save data one after other

Index
b- 2 dimention data

1 dimention data

(o]
1



Index row\index column | Q 1 2 3 4
0 1 ‘9’ 1421 True
1 2 7 1426 false
List _dob_eatin =[[‘1’,’9’,1421,True],[2’,’7’,1426,False]]

38-Print (list _dob _eatin[0]) .

a- =[‘1,9’,1421,True]

b- [‘2’,’7’,1426,False]]

39-Print (list_dob _eatin[1]) b)

a- [1,9’,1421,True]

b- [2’,’7’,1426,False]

.
40- Print (list _dob _eatin[0][1]) <ush 4 sUad JITLS 12 Ja

a- 9

b- 1421

c- 1426

41- Print (list _dob eatln[1]
a- True Q
b- False

c- 1421 (b

11 - its has apaj

riSed
i ends by {}

Q:{‘dav’ :1, ‘month’:9, ’'year’:1421,‘eatin’: True}

12-Print (a)
a- 1/9/1421
b- 1

s

rd Arabic or English word Translation python
key and value pairs and all pair sprated by comma

Print (a[‘day’])

Print (a[‘year’])

Print (a[‘eatin’])




c- 1421
13-Print (a[‘day’])

a- 1

b- 1421

c- Error

14- Print (a[‘eatin’]) .

a- 1

b- 1421
c- True

a=20

f=[‘1",'9",1421,true]

g={‘day’:1,’month’:9,’year’:1421,’eatin ’: t}

15-print(type f[0])

.
a)< class(str)> b- <class(int)> ¢ <cwo) -

16- print( type (a))

a)< class(str)> @%b c <class(boo)>

17- print(ty %
s

p

r)> b- <class(int)> ¢ <class(boo)>
18 -

ict)> b)< class(str)> c- <class(int)>

Change data type (casting data type )

18- write (‘total=" +total ) its return typeerror ( )
19-total convert to string using str commend print (‘total="+str(total))
Or print (‘total=",total) ( )



1- the good in python assign multiple variable at same time
“a,b=a+b,a*b” ()
20-Simultaneously it call Fibonacci series ( )
21-Integer equivalent text be type case into integer date type for example

Var value Source code output
I=7.5 Int(i) Value error ()
Print (i)

1=’7’ Int(i) 7

22- Print(“’ hi'no”) outis
23-Print (“5”+"7"”)
24-Print(5+7)
25-Print(“ali”+”mostafa”)
26-print(“ali”+”+”+”mostafa”)

27-A=2 B=8 print(A+B Q
28-Print(“ali "+a)----- --p-

a=2 b=3 <c=a+b 5
a=10 b=6 c=a-b 4
a=3 b=4 c=a*b 12
a=12 b=3 c=a/b 4

30-If string used combines the string together into single string it
concatenates them ( )




31-If div a=10 / b=20,1 python will but resultin

a- float

b- integer

c- error

32-modulus”%” a=20 b=10 c=a%b print(c) .
a- 0

b- 2
33-exponent “**” x¥ a=2 b=3

a-8

b- 9 .
34-floor divistion”//” division left side by right s&perator and round

the result to lower value ()
35-:-a=3.2b=1.5 c=a//b

a- 2
b- 2.3
c- 3

by
36-a=7.8 b=-2 c=a//b®

a- -4

b- -3
37-it used fo two number if great then or less then or equal
a-com sibn Operation
b-Ayi perators

41-a=10 b=20 if a>=b: f ()




42-a=3.2 b=32 ifa>=h: f ()

43- a=4 b=4 ifal=b T ()
44-it assignment operator the operand on the right is being to valuable on
the left

a- comparision operation
b- Arithmetic operators -

C- Assignment operation

45-a=20 b=3 c= a+b
a- 30

b- 23

46- a=20b=10 a+=b .
a- 30
b- 33

Q
1
s

48-Logical operat hich s not

a- AND

b- OR (l/
c- XOR

d- IF

d%hand (b==10):
Q =20 B=10 IF (A==20 )OR (B==5):
a- T

b- F

A=20 b=10 If not ((A==20)or (b==5)):



a- T
b- F

40------------=--- :- its one way to write acode that will check every element to
see if it match the desired value python provide easy way check if element is

member of list or not -

a- OR

b- Membership operators k)
41- Return true value if the desired value exist s in the list otHWer return f

a- In
b- On
c- Notin

42- A= 20

B=[5,10,25,"20’17,19,45]

s

C="20" Ainb

N
SN

b- F

43-Cinb Q
a- T Q
b- F

44- A%%

6% ,17,19,45] A not inb

- T
b- F

45- What will be display program ?

My_value=99



My value= 0

64- Print(my_value)

65- Print (“my value”)
66- How can print

1- “cat "nono
2- Van’vom

67- how display print(format(123456,’10,d))

68- amont =72 () .
69-hi be=8 () ‘;

70- 44b=7 ()

71- print (123456,’10d)

72- print (65.4321,3f) \ ~C

73-
Program Out put
t(“value:”)
put(“value:”)
N pt(input(“value:”)
Sum= e+ Number2+ Number3
Ave=sum/3

Print(“sum is”,sum)
Pri t% is ”, ave)
2

num2 =3 num3 =6




maingy 8

1 vi=input{“"valuel:™)
2 vZi=input{"valuez:"}
i if(visvi):
4 max=vl
5 else :
& max=v2
7 print("largest value is', max)
&
if vi=2 vl1=1
LLLI® AN #0 a
1 number = int(input(“valuel:"))
2 if(number>0):
3 print(‘number’,number, ‘postive’)
a4
5  elif(number<e): -
6 print('number’,number, ‘negative’) -
7 else:
8 print('number’ ,number, ‘'zero')
9
10
11
Number =2
Main “
Irbegar area
e Q
I ger W
Wil [
e
aed="w
Dutpal ared
End
- write the program python
r i in range(1,11):
product= 2*i
if (productisS==a):
continue
else:

primt("2x',i, =" ,product)




for i in range(1,51):
if(ix5==0):
print(i)
¥=i
print (xﬂ

for 1 in range(1,51):
if(i%5==6):
print{i)
if(i==25):
break

i=0
while(i<10)

print(i)
i+=1

N

s

B=1

A=0
While(B<50)
Print(B)
A,B=B,A+B

% ave sequence of event number from -50 to 0

a- (-50,1,2) b-(50,1,3)

81- Have sequence of event number from 1 to 100

a- (1,101) b-(100,1)




82- Have sequence of event number from 52, to 61
a- (52,62) b-(52,60)

83- Have sequence of event number from 0 to -50

a- _(0,-51,-2)
b- (0,51)

84- Have sequence of even number from 1 to 100

a- (2,101,2) b-(2,101)

85- Have sequence of number from 1 to 100 div by 5

a- (5,101,5) b-(5,101)

86- a="hello’ b g

b="mohamed’

Print(a+’,’+b) -------------—- ‘BQ —————————————

A- hello ,Mohame

B- HELLO MO

Mohamed

b- hello Mohamed



c- hello,Mohamed
d- HELLO MOHAMED

89- a= 4.5 print (int(a))
a- 4 b-4.5 c-error
90- a=5 print (float(a))
a- 5 b-5.0
91-a=5 b=3 n=a*b d=a-b thesimultaneous assignment is

a- n,d=a*b,a-b

b- error e
93-n1=5 n2=3
Print(n1==n2)

a- f
b- T

s

94- M1=2 M2=5

Print(m1>m2) %Q

a- T
b- F

95- print (m1!= )‘L
a- T
'O
96 4v=
- T
B- F

97-n1=10 n2=4

Print((n1>n2)and(n1<10)



98-n1=10 n2=4
Print((n1>n2)or (n1<10)
99-n=3

Print(n!=3)

a- F
b- T
100-n=3

Print(not(n!=3)

a- T
b- F

101- find error

s

1- N1=input(“enter nl1:"”)
2- Print(eval(“20”)) outpu ing
3- Print(“total”+total)

For | in the range (1,11):
Print(‘2x’),1,’="2%*1)

For |l in range (1,51):

If(i%5==0)

Printi
Program use 1to 50 and div by 5 break if Forl inrange (0,51):
i==25 If (i%5==0):

Print (i)




If (i==25)
break

Program can do table 2 if any number div by | For | in range (1:11)
5 don’t wite it Product=2%*i

If (product%5==0):
Continue

Else:
Print(‘2x’,1,=product)

Have sequence of event number from 0 to - For |l in range (0,-51,2-)

50
Find area rectangle L= int (input ( lengh) b)
W = int (input(w))

Area= I*w
Print (“area”,area)uppe,

i=0

while(i<10):
print(i)
i+=1

.
L)
102- 5.12534 find 2f

103- 123654 find Q\
™

Takes 2 weight number from the user and displays:
: : 3. "Normal® if the weight is less than /0

b. "Overweight” if more than 70

weight=float(int(input("weight")))



if(weight<70):

print("normal™)
elif(weight>=70):
print("over"
else: >
print("error"
-
E cayiil Sleas) Joosll dlggw X @ Replit - SurefootedMonuments X + = =
&« C 1 & replit/@hendslim123456/SurefootedMonumentalDifferences Q v B B3 o & [2]
=@ @i w e
Files [N RELIY 25 a8 https-//SurefootedMonumentalD
1 weight=float(int(input("weight™)))
2 if(weight<7@): weight-2
3 print("normal™) normal
4 elif(weight>=70):
5 print("over")
° 1
7 else:
8 print|(|“error")

= s m . o . e 92 S W a E A GREE 05,.-'11‘3?:)19 s d

Use For loop to the range function for display all even number between | and 20



for i in range(2,21,2):
print(i)

@ Replit - SurefooctedMonumental X + -

< c O @ replit/@hendslim123456/SurefootedMonumentalDifferences e vw O H A e
— /3 s @hendslim123456/Su.. o
=S (\.J - A No description ]
D Files [N main.py =]
1
m 2 for i in range(2,21,2):
3 print(1)

@ ® 00:05:41

w o 1 AR Bm®Cc oS abkEO®

[75)

. Ask the user to enter an age, then display messages as:
a “Toddier . the age between 1 and 3 years
D. "Preschool™ | the age Detween 3 and S years
c. "Grade-schooler " the age between S and 12 years
d. "Teen : the age between 12 and 18 years
e. "Young Adult” : the age Detween 18 and 21 years

! "TADUIRT - the age is greater than 21 years




age =int(input("enter age"))
if((age>=3)and(age<=5)):
print("toddler ")
elif((age>=5)and(age<=12)):
print ("Grade school")
elif((age>=12)and(age<=18)):
print ("Teen")
elif((age>=18)and(age<=21)):
print ("youngAdult")
elif(age>21): \ J
print("Adult")
else:
print("error"



™

il Sleas) Jgogll dlggw X @ Replit - SurefootedMonumentall X +

C Y & repliy@h

N sol @hendslim123456/Su.. Q+
@ 6

A No description

Files [N main.py =]
1 age =int(input(“enter age"))
2 if((age>=3)and(age<=5)):
3 print("toddler ")
4 elif((age»=5)and(age<=12)):
5 print ("Grade_ school™)
6 elif((age>=12)and(age<=18)):
7 print ("Teen")
8 elif((age>=18)and(age<=21)):
9 print ("youngAdult™)
10  elif(age>21):

11 print("Adult™)
12 else:

13 print("error")
14

(:) (:) 00:01:10

Python

E))

[GCC 6.

— s

Qe v T DB e@e O

refootedMonumentalDifferen

3.7.4 (default. Jul 9 2019. @S1064

3.0 20178516] on linux




In the gym there are many women/men who need to lose some calories. They all need the help from
the coach. The coach sorted all the information like this: (6,5.43,3,8.12,4,2.76,5,4,9). Write a
program by using the correct data type that represent above data to find the total numbers . Help the
coach to get the same output that visible in the box by using all the operation that presented in the
course

Output look like:

The numbers in the list are
[6,543,3,812,4,2.76,5,4,9]
The total = 47 309999999999995

The type of total is: <ciass ‘float’>

Convert the total into integer = 47

RS g

a=[6,5.43,3,4,2.76,5,4,9]
print(a)
sum =a[@]+a[l]+a[2]+a[3]+a[4]+a[5]
print(sum)
print(type(sum))
print(int(sum))

oy ¢iSall s
numbers = [6, 5.43, 3, ilﬁ,\ljs, 5, 4, 9]
print('The numbers i e lis® are :\n', numbers)

# variable to stor
sum = 0
# iterate ovep the
for val in numb

sum += V3 ’

pe of total is:', type(sum))

print("Convert the total into integer = ", int(sum))



@ Replit - SurefootedMonumental. X +

6

c O

@

@8

Files

@ replit/@hendslim12

@hends1im123456/Su..
A No description

g mainpy =]
1
2 a=[6,5.43,3,4,2.76,5,4,9]
3 print(a)
4  sum =a[e]+a[1]+a[2]+a[3]+a[4]+a[5]
5 print(sum)
6 print(type(sum))
7  print(int(sum))
8

L R @®ES O § uOR &

o

=

aQa w T @ e & 6

https ; tedMonumentall

[6, 543, 3, 4, 2.76, 5, 4,°5]
26_189999999999998
<class 'float'>

26




S. Write a For Loop program that repeats the same number with the same value. This will construct
as the following pattern

Expected Output.

+*

-

*44

*hee
*hbe e
*444
*EEEEE S
s S S S 2

AR S S S S

g =28

for r in range(g):
for ¢ in range(r + 1):
print('*', end="")
print()

osiSall Ja ‘\\_’

foriinrange(1,10):
print('+' * i) Ll

u.nJLuz.‘

&
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_a War Story (2014) alis daslis X E] dpuy e lei gl dilazll X @@ Replit - SurefootedMonumentzl X + - ks

&« C {d & replit/@hendslim123456/SurefootedMonumentalDifferences Q % U HAa e e e
— o) “ol @hendslim123456/Su.. Q+ o
- (\./ -, A No description L' + new repl
Files [N main.py =] https://SurefootedMonumentalDifferen

1

2 a="nasser"” nasser

3 b="al nasser” E_ﬂ“ nasser

e " jeddah

4 c="jeddah 8124523

5 d="08124523" unversty of jaddah

6  e= "unversty of jaddah"

7 print/(a, "\n',b,"\n",c,"’

)

= S g 16:46
B A Yy ARm@®c H . & N I . d'

a="nasser"

b="al nasser"

c="jeddah"

d="0124523"

e= "unversty of jaddah"

print(a, '\n',b, '\n',c,'\n',d, '\n',e)

V)'



total=0
for i in range(1,6):
mark=int(input(“enter mark"))
total = total + mark
if total»>o:
print("postive")
elif total<o:
print("negative")
else:
print("zero"

&



= Story (2014) 2l daslis X E] = =i dngswll ylazll X (@ Replit - SurefootedMon. % @) Replit - SurefootedMon. X + - X

&« C Y & replity@hendslim123456/SurefootedMonumentalDifferences @ &w U B 8 o o &
=@ @it v =
Files [N main.py =] https://SurefootedMonumentalDifferen

1|

2 total=0 enter mark2

3 for i in range(1,6): ks st

. . enter marké6

4 mark=int(input("enter mark")) hiE LR

5 total = total + mark enter mark5

6 if total»e: postive

7 print("postive™)

8 elif total<e: 0

9 print(“negative”)

10 else:

11 print(|"zero"))

-
[ 1]
C

N BB @®Cc 6§ *F BB Mg

Input numb %er >0 it is + if number<0 it is _ if number=0
print zeror. &

VN

number = int(input("enter number:"))
if number>o:
print("postive")
elif number<o:
print("negative")
else:
print ("zero")



C Y @& replity@h

@ ® @hends1im123456/5Su...

dslim12

# No description

Files [N

main.py =]

1
2

00~ v oW

tory (2014) alis saslie X | Fo] i glov @ngmwll Jjlaadl X | @ Replit - SurefootedMor

number = int(input(“enter

number:"))

if number>8:
print("postive")

elif number<e:
print(“negative”)

else:
print ("zero"ﬂ

x

@ Replit - SurefootedMon X =+ - x

e # T HRe € 6

https-//SurefootedMonumentalDifferen

o

enter number:2
postive

I

>



; L_).A 2 hat asks the yser to enter their length AND the current weight. The program should
1. The ideal body weight, where
Body Mass Index (BMI) = Current Weight (CW) kg + Length*2 (L) m
2. Print the message
2. "Fat": if the Body Mass Index (BMI) is greater than 25
b. Print the message "Scraggy™ If Body Mass Index (BMI) is less than 185
¢ Print the message "IDEAL": If the Body Mass Index [BMI) is between (185 - 25)

Example
Enter your length as meter - 16 w
Enter your current weight as Kg © 62

Sody Mass Index = 24 218749999999996

- ‘\9
[}

length =float(input("enter your lenght as meter:"))
wight= float(input("enter your current wight as kg:"))
body massindex =int (length/wight)”2
if body_massindex >25:
print("fat")
elif body_massindex <18.5:
print("scraggy")
else:
print(body massindex)
print('*****you are ideal****")

\,
&
$




o War Story (2014) als s1slin X | T3] - dup go glei dngmall ojlaall X

<« c 0

8 replit/@hendslim12

rences

— sol @hendslim123456/Su..
— @ -, ;’ No description ! ar > B
Files [N main.py =]
1
m 2 length =float(input("enter your
lenght as meter:"))
3 wight= float(input(“enter your
current wight as kg:"))
4 body massindex =int (length/wight)~2
5 if body_massindex »25:
6 print("fat"™)
7 elif body massindex <18.5:
8 print("scraggy™)
9 elif body massindex <=25:
10 print(body massindex)
11 print("*#****you are ideal®***")
W P R R B ® € 5 § 5

@ Replit - SurefootedMonumenta

x

+ = ] X

a ¥ I e e O

efootedMonumentall

https

enter your lenght as meter:5
enter your current wight as kg:6
scraggy

*kkkkyoy are ideal****




I A company decided to give bonus of 5% to employee If her/his year of service is mare than 5 years.ask
user for their salary and year of service and print the bonus

salary = flost(input(“Plesse enter your salary: %))
yoar_of_service » float(input("Please enter your year of service: *))
if yoar_of _service » § :
prist(“vour bonus Is ", salary*e. %)
else:
print("There 13 NO bonus™)

. Code that print the masimum of two entered numbers.

Solution:
xwintfinput('x="))
yeint{input('y="))
oy

prnt("The max value is x=' x)
ehse

print{The max value s y="y)

. Code that print the minkmum of three entered numbers.

nl=int{input{’nls")
n2wint{input{'n2«"))
n3snt(input('n3s"))
# (n1>=n2 and nl>=n3).
print{"The max value 15 nl="nl)
eif{n2>snl and n2>=n3)
print{"The max value is n2="n2)
s
print{"The max value & n3="n3)
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6. Code that takes a mamber:

“The number 5 odd.” : when the number s odd

“The numibser is divisible by five.” ; when divisible by 5

“The nurmiber is divissble by five and odd.” : when odd and divisible by 5
Otherwise, it should print the Lame number

nurm=intfinput] num =)}
il P2 s e e Sl
print[The numbser is divisible by five and odd")
elif pum%S==0-
prnt[ The number is divisible by fve')
elif pum¥le=] :
print[The entered number s 00D
else:
printirum, number not in the rule”)




